H & 0l & AHS B Ml A

FSl A Z IOl L X2

2024-12-30 14:13:08

[e]
=kl

20258 =04t

od
i’
oF
uJ

A

- SAIHL0E XN/

(o]
=
2t

(&
gl(

2
=
DEAIY |4

ZHIOA X 2
DEAIIEX

2A:
X XH
o
&

N SIS QNS 8188 2 m S81°|° < 8188
S SN |SN S|s|a D . S S S
i — | — |~ N~ Y] — ANl ANl
. 3 Sl e Rl R 8|3|3 N J < 4| <<
(ep)
E
=]
ol ol Holl No il No) [N NoN Nl [eg) N~ (@l Ne ()
3 515|5|8|E - & 2|88 N E1EE
s |2 B3| 8| 8|a 3 & SRR oo\
il
RIS
S8 INIININBB 318188 S8 3838 &IV S K LIS 8 S S & SIRIRIR R ®
® ¥ S H o oddldldld d|S|glg S|d B S E W g dNSon ®m om w = Sl6l6]|6 85
r |e - - =] © o
<
S
R~ WM MR WM W
~ o ®|= W o™ o il %:
S 3 Sk IO 0% = =
o = S|P = 2 8 3 5
4 ) 3 | 0o 7 & =
Bl o B TR S S
ol ol Bl <) .r_.:m mw_ﬂﬂ wug_ qmm
- bl 4l =~ K o L2
¥ = =< a o4 = o :
It [ no ur ) K K 3
= ~ @ Ta |z O o0
: e K R |2 5 w2 ) =
= & o O o O I S5 = + &
= ol ) = = 8 a N oK ~J A W._ H o
F\ D — Kl X0 X0 ) | o) < A._ 0l ) 100 <J e c_o ]
F < o | S | ko z & H @ |2 =
Or Kio | 7 | rlo OF 2 . — = ® ™ 0 _ ol T o
ol s 31 mg%mg 30 o %0 s D ol W =
. NEAR ol 3| = up g 30 (o K R o0 3 SR L D
= w_a%ggj men_? < Slwlm o o - WK |Dlslx ) M
=0 S R kT T I e g e R el L S S T < (=T F 7 oV VA
ot W 0| M [ KKK Rl < |z ol lan|z m w W fd |mlas W
<z | =lalnlgls © (rig|e O |@ Ii dlgls © © 9O 80 lgs|y ©
K AN |1 |® ™ = = ~N | N ~ [
I | ~ <4 [0 =3 R0 E=) il ot
s _AA&_% 3r 4
= =
R0




od
i’
oF
uJ

(a) (ap) © [Ye) wn | o
A © 0 0 8 & NME]
KIo
El
B
Y e e 8 KRNK|S S 818 21818 218
[ee) — N~ O N~ o 1O wnj|o|lo wn | o
d - N|Y[ - AR sS|s|8 5|8
war | | @ =
il
RIS
IS KIINES & KL T 8KV S88 LIRS 8 & Q8|8 8181818 88|18 8 8 S
VH oA Old oA nH & odnNS®ININS SN KISIS S|S|s|les Slsla s s S
Sl Yo rslg Yy e ss WY e ~g2gging|Ye © - Clglg Q€88 8|88 8 @ 8
3l . o
<
S
mowWoE| e WM R WHM
il o] 0l o] o ] @
= & = ¥ 8 3 8 S
N o o < = ® =R
y | - - : = =
o kS o} — —
=[S ] W = = g8 TR
A ~ R 8 o M moom
o | =2 & = Bl 8 5
O %_mw & R) ] Z
~ o K o A rOR
< _ mH_ _A_o Q|_H.__TA IK
~ —~ e < _ & I <o ©°
= K1 %0 i = 0 R0
o] o ] 107 rio W ' = HR R
o |u® < g pi & - o = o =0 D
AN PR o Mo ol KF Klsls ™ s 5 |s|la R H m S a 3ol
o) il Il L bl = o |Z|2 E I 1
. |3 pd 0 fr o B (80 |m R & RI|RI S| o W |m|r o M0 Ho
= |9 | iy o D __mm || RO op O k(K S [®Efmofm < | |H H0 0 0
ﬁo = |z 7l o o < an|zr|or 8 do M okl R OO|K|sfs 0 ||k 0 A
RE R ol N R " =loljx R Aow (@< A |mff|w B sl 41
: i S = O = Risls © 80 |gls© |bigls © |s|s ©
X ol ) =0 3| & « 20|® a
O 3 R <4
=




2A:

ZHIOA X 2

M NS MEESH(AHY - SAINLLMUK/MHEE - DS}
celr XGFH #2435 =2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—4a80 813 OIXNEH('2BEE)
20,000,000& 20,000
2430 X (EX) 29,760 31,200 1,440
= 8,880
o 20,880
307 @12t0| & 29,760 31,200 1,440
== 8,880
o 20,880
02 LB HAHE L 29,760 31,200 21,440
O4480 LetMBH S2Hd= X2
20,0002 12400 2+ 129 29,760
= 8,880
= 20,880
CINEAa80012hery 16,000 12,000 4,000
= 6,000
o 10,000
307 @I2to| & 16,000 12,000 4,000
== 6,000
o 10,000
02 LB HANHEE 16,000 12,000 4,000
OCIXNE 24800 19tekd X3 A
1,000,000 %1690 2 16,000
= 6,000
= 10,000
== dH 29 134,120 180,900 A46,780
201 fer23y| 58,420 80,700 N22,280
01 AtR2t2|HI 18,520 18,400 120
O=2== gH s2= W& 16,000
— &S WA 4,000,000 <25 8,000
—&==2 M 60,0003 * 1074 2=%52] 3,000
—EZ2U=EE N 5,000,000& 12 5,000
O=2== gH 0V |RXN2=
100,000&* 12043 1,200
Os== & dJjetd 2|l
110,000 * 1204 & 1,320
2 S5=24g4l 21,900 19,800 2,100
O2== g8 =RAE=+
1,000,000 1290 & 12,000
O=2== gH k&=
200,000&* 12043 2,400
O2s= ZH dJIe=
500,000& 12902 6,000
O&IIXE 88 & =Al 22/l
150,000& %1004 1,500
03 A= SHI 18,000 42,500 A\24,500




SA: 2RO X
S NAZHELSH (ALY - SAILLHHKI/AMSEEE - DEF
celr XGFH #2435 =2 (SH &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O2E= 2H 301 2% 2 SH(FZ, &4
s) 1,000,000& 183 18,000
301 LPENF 53,200 80,200 A27,000
11 HAFAHIXIAZ 46,000 76,000 A30,000
O===2 Y 29 46,000
-3¢ 2,000,000& 183 36,000
—=A 5,000,000& 23] 10,000
14 JIEt2 43 7,200 4,200 3,000
O=2=5 ZH =29 100,000& 603 6,000
O2E= FE ®123
400,000 «30H & 1,200
307 QIZ2t01A 2,500 2,500
12 212t Et W FH| 2,500 2,500
O2=s EH &l u=s Y A48 2,500
—u=s 2,500,000 *12] 2,500
401 AlEHIZ20HY| 20,000 20,000
01 AlEHI 20,000 20,000
O2=S 8H ANEE Ex3M
20,000,000 100 2 20,000
AEotelgaEd gd 2 2 491,800 1,236,400 AT44,600
201 B2 AY| 491,800 1,236,400 AT44,600
01 ArR22ltl 491,800 1,236,400 AT744,600
OO0t HAZH 14 115&*800,000& 92,000
OootelgdaZd =5 A
1602 *200,000& 32,000
O0te|&HAEA AEIH ME E =2 13,000
—SEAEIH HE 50&*20,000& 1,000
IIHEAEIH M=
3,000 50094 2~ 1,500
—s==0 M 60,0002 * 101 A~ *53| 3,000
— &R M 2,500 *600 & *53] 7,500
OXEOoIIgaEH T2 29 L 71
o 24,800
—EEn NAH 29 +42
50,0002 * 18 A+ 1200 & 10,800
—DEAHH SRR
500, 0002 * 184 9,000
DA 7Y 1,000,00024+54 5,000
ORHIY Ol2IYNEH 2g442
8,000,000,000&*1. 1% 88,000
OEHHEE =2
25,000,000,0002 *1.5%+50% 187,500
OO0L2|ZHAI 3 5% Z0lEH 4=
2,000,000, 000 *5%*50% 50,000




SA: ZHOoIE X 2
M NSZHELSH(AY - SAILLUU X /AHTE - DES})

celr XGFH #2435 =2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOlZlZrAER HWZ(EI0IH) 242
300& 15,0002 4,500
deotelgadESd LA 1,300,000 0 1,300,000
N 650,000
o 650,000
201 et 3| 1,300,000 0 1,300,000
Xl 650,000
o 650,000
01 At22t2lt] 1,300,000 0 1,300,000
OffelgatEa 1% el 24=
13,000,000,0002 *10% 1,300,000
N 650,000
= 650,000
deotelgdEd 28X 225,000 0 225,000
= 90,000
o 135,000
201 etz 3| 225,000 0 225,000
== 90,000
o 135,000
01 At22t2l] 225,000 0 225,000
OORIZABR HOTY BAS(SHI)
225,000,000 225,000
= 90,000
= 135,000
Aes sS4 243t 51,800 896,734 \BA4,934
201 fer23y| 12,800 15,800 /3,000
01 AtR2t2|HI 12,800 15,800 A3,000
Os2= M& 9,800
—clEX & JdEX M
1,000,000 %52 5,000
—&==2 M 60,0002 *10JH 2-+82 4,800
OZd4 /& === 3,000,000& 3,000
308 AHAIEMSOIE 39,000 880,934 A\BA1,934
18 SIS0t AS A 39,000 880,934 A841,934
Oty s=tigd 22 IDIE 28
39,000,000& 39,000
s Sdad 63H(EX)(ZY) 628,000 0 628,000
X 314,000
s 314,000
308 XXM SO0IH 628,000 0 628,000
N 314,000
= 314,000
18 SIS0t HAS A 628,000 0 628,000




2A:

ZHIOA X 2

S NAZHELSH (ALY - SAILLHHKI/AMSEEE - DEF
Selr XNSZM 2483 =8 (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXES SAMA 243H(EX)
628,000,000& 628,000
Xl 314,000
i 314,000
dEANTELS FH 152,164 70,640 81,524
201 L2 | 91,660 70,640 21,020
01 AtR2eltl 50,860 39,840 11,020
ONSANE 2483 222 HE 2,400
—s40 S 2222
60,0002 40K 2,400
OGS ZSAME & 22
100,000 *40H A% 124 & 4,800
OZXSAIE &I|etMzeld|
220,000& = 12042 2,640
OXSAIE Aot L]
250,000 1201 & 3,000
OXSAME HHEER01 FUHES AIZ22
45,0002 3+ 128 1,620
OHSAE A=H| 13,200
—X22AE 600,000 = 12942 7,200
—HEAE(QUAI, YA
500,000& * 1204 6,000
ONEANE =2 HEA 14,400
—AZ2AIE 800,000& 1200 & 9,600
~HEAIF (YA, QUAI)
400,0002 1200 & 4,800
OXEE =SAME OV Uiz
400,000 1204 4,800
OFEANE LHE2E(L3D] S) 7
200,000& *20CH 4,000
02 2324l 40,800 30,800 10,000
OXEE ZS3AME W &I, =523
900,000 =124 10,800
OHSAIE ANEE SANEF(RSAE, 2
ANE ALAIE) 2,000,0002*153] 30,000
401 Al&HIZ20HY| 60,504 60,504
01 Al&HI 60,504 60,504
OXSANE B2 B3 A
5,000,000 *6IH 2~ 30,000
OZXZAIE AIZEHE AFY Al
492,000,000 +6. 2% 30,504
HSAYEHS FAI(2124Y]) 58,364 49,012 9,352
101 el t| 58,364 49,012 9,352
M I1RINZ2Z2XsE+ 58,364 49,012 9,352
OFTE RSAIE HA 2124H| 35,206
=Jl=2= 80,2403 +4B 62 x 1201 2 23,110

_6_




2A:

ZHIOA X 2

M NS MEESH(AHY - SAINLLMUK/MHEE - DS}
=Rl NS 243t =X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—ANSIBEZ (NS, 5H)
12,0003 xS+ 1200 & 576
—BUaRsy
240,000 x4+ 12042 11,520
OXSAE HiESE<0! 212A4H| 23,158
—Jl=s 70,2102 «3S+62 12042 15,166
—MIBEZ(DE, &)
12,0003 38+ 1201 & 432
—RuaRsy
210,000 «3S* 12042 7,560
HSAE SHSH 28 KA (EX) 4,000 0 4,000
< 2,000
s 2,000
307 glztol & 4,000 0 4,000
= 2,000
= 2,000
06 2= 4,000 0 4,000
OTSAE HSH 28 X (2X)
4,000,000 4,000
=S 2,000
s 2,000
RSN (ZELTAMNL/XNFLEA) 3,600 3,600 0
ZHESEAY X2 3,600 3,600 0
SHOUXI P RFEHI) 3,600 3,600 0
203 HE=AH] 3,600 3,600 0
M A2 LRFEI 3,600 3,600 0
ORAN2ELRFTIHI(2021015H)
300,000 * 12042 3,600
g!%gj&j 2 22 HA (&Y - SAILLUE X/ 9,527,801 6,694,345 2,833,456
= 1,235,821
N 289,000
Jl 35,500
= 182,980
Ea 7,784,500
IRl 22 =& 4,377,551 2,419,231 1,958,320
= 1,235,821
Il 35,500
== 182,980
o 2,923,250
LHAFHERA NAS(2F) 15,500 15,500 0
Il 16,500
401 AlZHIZ 01| 16,500 16,500 0
) 15,500
01 Al&H| 16,500 15,500 0




2A:

E M

X=]

ORI EF =4

ZHIOA X 2
OIUX ofd 2 B5 JHE (& - SAD|Y
x

ENVEPAVIGIEDNE NPl =y

SN - FH.

o

) - HIRAY - BES

Ofl &F2H

MEE
Ofl &k2h

A (2R)
15,500,000 * 10 A

Il

15,500
15,500

J|

20,000
20,000

20,000

401 Al HIZ S 0HHI

Jl

20,000
20,000

20,000

%

01 Al
og

a

AFHRS XAE(82)

20,000,000& %1042~

=

20,000

20,000
20,000

20,000

LPGE I ALEJt71 AIEIHE AHE

H

46,400
23,200
23,200

46,400

403 X+XI

>
o

HA|

on

A=01d

M A

46,400
23,200
23,200

46,400

02 SVI2S0 U H=E S AL
020258 LPGEI| AFSIH7 AIEIHE At
290,000& *1602++*

o H

46,400

46,400
23,200
23,200

46,400

M

15,000
4,500
10,500

15,000

UMY

15,000
4,500
10,500

15,000

02 SIS0t A=
O2025F JtACHM

MAEAISHI

HX(EOIHR) ESAY
15,000,000& *13]

M

15,000

15,000
4,500
10,500

15,000

o OIS LPGHH2EY =AY

HH W

270,000
189,000
16,200
64,800

270,000

on

403 At

m

H|

>

A=201&

HoH W

270,000
189,000
16,200
64,800

270,000

270,000,000

270,000

270,000

270,000

_8_




2A:
X XH -
o e

=aak

ZHIOA X 2
Ol Xl et

gl(l
ORI 22 =&

32 M (&Y - SAILLUHEX/HH KL AHROHE)
X

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 189,000
=S 16,200
s 64,800
LPGH 2t = XI2kel 10,000 10,000 0
201 =3 10,000 10,000
01 At22t2ltl 10,000 10,000
OLPGHI2t2 AlE Rl 2tel
5,000,000& <22} 10,000
AAUHEXES & - =& NSASE 2,158,133 2,371,331 N213,198
= 162,280
[Ea 1,995,853
403 AXIEHMSA=Z0l1d 2,158,133 2,371,331 A213,198
=S 162,280
s 1,995,853
02 SO 2SOt stA=2E 2 €A H] 2,158,133 2,371,331 A213,198
OATIMOIHTIR S S=ETIAAR (35H2)
2,158,133,000& %12 2,158,133
< 162,280
s 1,995,853
HE(SH )P 2Y PEAY 1,842,518 0 1,842,518
= 1,023,621
Ea 818,897
403 MR HHMSAHE01H 1,842,518 0 1,842,518
= 1,023,621
s 818,897
02 SVI2S0 U H=E 2 EAIEI 1,842,518 0 1,842,518
Ogs AuitsS LPGHH2Y FEAIY
1,842,518,000& 1,842,518
= 1,023,621
= 818,897
2 &M IHEE 29 111,600 11,600 100,000
A Dt2E RSU XIS 1,600 1,600 0
307 elztol & 1,600 1,600 0
02 2IZHBYAIAE & 1,600 1,600 0
O&AM e d =0
1,600,000& %12 1,600
SAIOMEE £=cld] 110,000 10,000 100,000
201 et 3| 10,000 10,000 0
01 At22t2l] 10,000 10,000 0
O=A XIHE ™ ==2lH]
2,000,000 574 A 10,000
401 AIZHIZ SO 100,000 100,000
01 Al&HI 100,000 100,000




SA: ZHOoIE X 2
M UK oA Y BZ A (A - SAIIS LUK/ HIH XL RO

telr AR EA DN 29 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OL7E &N XDHEdEA & F SE4H|l
M SAt 20,000,000 *5IH & 100,000
SEMHED| B2 2,465,850 2,413,214 52,636
SN TOHEE AlY 2RI 2,340,720 2,297,084 43,636
201 Lt | 310,390 346,754 A36,364
01 At 22|l 220,640 257,004 AN36,364
OEANLEAL 2H ANREE L 225 722
120,000 *50 A+ 124 & 7,200
OFIZE L 22 et MH|
60,000 *2I 2~ +63| = 1200 2 8,640
Og&I| 2= ==cldl 2574
5,000,000 54 2 +23| 50,000
OtidEz 218 ==2ldl
5,000,000 54 %23 50,000
Ot e 2 2lge| 257
3,400,000 *5JH A *33] 51,000
OAA2 ARIY =2t &XId|
5,000,000 54 2 +23| 50,000
OEALAT HAt|
760,0002 54 A x13] 3,800
02 2324l 89,750 89,750 0
Odstea & /dYs ==
150,000 5 A+ 1200 & 9,000
Og&I| 215 ==cltl
4,000,000& 54 %43 80,000
Ofldd= erdze| galtl
60,0003 *37H 2 +13 180
OFXIIEa XA M=
50&*2,85000 43| 570
301 LPENSZ 1,330 1,330
11 HAIAHIXIAZ 1,330 1,330
ORYey us AN
665,000& *23| 1,330
307 QIZ2t01A 1,334,000 1,334,000
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110,000 * 1624 x32 53| *30% 7,920
Jl2ZH(XNGSEHE) 3,312 8,787 VANGRV(
201 Ler2 | 3,312 3,072 240
01 At 22|l 3,312 3,072 240
ONAAHE 22z 24|
9,000 x5 x602 x80% 2,160
OXNGZHE R MRES P2
20,0002 *6Z * 1270 = x80% 1,152
Jl2ZH(AHEHSHE) 4,332 7,173 A2,841
201 2| 4,332 3,744 5838
01 AtR2telt] 4,332 3,744 588
O2s= =Y 2% 34|
9,000 *3H * 105! *80% 2,268
OMAEHSIE ADET SAY
9,000 x3H 60 x80% 1,2%
ONPEHE 2T AIDEE 2
20,0002 41270 2 x80% 768
J1230I (MU AFHE) 5,712 11,187 Nb, 475
201 Ler2 | 3,120 2,880 240
01 At 22|l 3,120 2,880 240
Ol RIAHY HEFE SAH|
9,000 x5 x602 x80% 2,160
OUXIMS HEFE AMRES 2L
20,0002 5% 1204 2 x80% 960
202 o4t 2,59 8,307 AB,715
01 =WHO4 bl 2,592 8,307 AB,715
OgdAs 2% N=FEH SF0HI
80,0002 *3F *3 1200 & »30% 2,592
JI2ZHI(ATHAEHLXIE) 2,448 5,733 A3,285
201 L2 | 2,448 2,304 144
01 ArR2eltl 2,448 2,304 144
OATHMOIATIE ADEF SAH|
9,000 x3H 60 x80% 1,2%
OMTHMUILTIE ASEF ALEE 2
20,0002 *3Z * 1270 2 x80% 576
OATHMOIUKIE 22 ARE 7Y
20,0003 *3Z 1204 2 x80% 576
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